HMX 2024 X JEH T BAL RETE P F L AT E TEA RS SRS ATR

1| XAF [ HMEFL#E 2 ARBE HMN X RZE R RS 6Z12 76. 00 76.00 | 82.78 78. 71
2 | xR HM KX = 48 A RBUF HMN R BRHE R RS+ 6Z12 1 71. 40 3 74.40 | 84.20 78.32
3| B HMNEHREA BB HME & HZE 73RS+ 00 6Z12 69. 40 3 72.40 | 75.80 73.76
413 HMN R D HFEAN KRB H M R B RS0 GZ13 73.50 4 77.50 | 82.62 79. 55
5 | B H M X A KA R R H W X B 5 ARG ol 6213 1 70. 40 1 71. 40 84. 32 76. 57
6 | ¥Hin HNEH B A R B HON X B RS 6Z13 65. 90 65.90 | 81.78 72.25
7| kE#H HMNE = FEA KRBT H M E AL RS GZ14 71.90 3 74.90 | 83.82 78. 47
8 | Bk HMN KA AREA KRBT HMNEAA RS GZ14 67. 40 1 68.40 | 83.08 74.27
9 | HEH HON X 3 4 A B BF HNE AL RS GZ14 61. 20 5 66.20 | 83.10 72.96
10 | #iEE HNR#EE 5 ARBA HN K AL RS GZ14 : 65. 50 65.50 | 83.14 72.56
11 | EX5 BN KA KRB HMNEAA RS GZ14 64. 40 64.40 | 82.10 71. 48
12| 4 # HN X KA BB HN K AL RS GZ14 60. 90 60.90 | 77.10 67. 38
13 | % MR EA RBF HMN Kkl F B R EEARRSE F0 | 6215 65. 10 65.10 | 82.98 72.25
4| Ex5% HM X R A RBUR WM R Kk BRE RS S | 6215 1 62. 90 1 63.90 | 81.56 70. 96
15 | #%EH HMN XD #EARBIF HMN Kkl F B R EEARRSE F0 | 6215 60. 70 3 63.70 | 81.92 70. 99
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HMX 2024 X JEH T BAL RETE P F L AT E TEA RS SRS ATR

16 | #5& H N XA % 4L A B B H M X Rk 458 2 GZ16 66. 40 9 75.40 | 82.48 78.23
17 (5 4 HM RN EA KRBT HM X ROk H 4] # o0 GZ16 69. 80 4 73.80 | 82.84 77. 42
18| ff = HM KN HEA R BUR HM K R A & GZ16 69. 80 4 73.80 | 83.60 77.72
19 | % N X 3734 A BB HOMN X Rk H 2] 2 A% GZ16 : 67. 60 5.5 | 73.10 | 82.38 76. 81
20 | A # HMEX = 48 A RBUF HM X ROk H 44 # 0 GZ16 71.70 1 72.70 | 83.14 76. 88
21 | 25E | KBERHNESVKEFQ HM K R A &0 GZ16 71. 60 71.60 | 83.46 76. 34
22 | B # HMXZHE 2 ARBRH HME g RERREEF 0 GZ17 67.90 67.90 | 83.04 73.96
23 | M HMEAE 2 ARBT HMNE B AERREE 0 GZ17 1 61.70 5 66.70 | 81.64 72. 68
24 | EXE HMN X RFEEA KRBT HMNE B RFIRREE T GZ17 66. 20 66.20 | 81.42 72.29
| E A& M X = FEA RBRF HMN R e mESF O GZ18 70. 70 70.70 | 82.54 75. 44
26 | Bk HMRZM 2 AR HMNESRESF O GZ18 1 67.90 2 69.90 | 82.74 75. 04
27 | KBS | ENERFLH L ARBR HMN X A8 F 530 GZ18 69. 40 69.40 | 81.96 74. 42
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